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1) To see red ----phrase -0 @

To be very angry

To criticise others

To find fault with

To see the colour red

TN : To see red' T WG T5MTG/Fa 2971 | TR P TG - TP (F) |

2
3
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2) TIPR IRIA{([ SRR TMo5TES TSR SRS SR AT -

v 1)
2)81%
3)u o
)

4)qfo

AT 2 SIS TS FAGH TR (AIRIANOE TRIEG | YYbro e (IS S[]MIK XS] T ST
O 2@ S AT Frewin faefia 3Ed | T fGaft s/get \3 5 fHd) g |

3) He said to me,"What are you doing ?" 363 53 Indirect speech X4-

1) He asked me what | was doing
v 2) He asked me what | am doing

3) He asks me what | am doing

4) He asks me what | was doing

4) King' *=1bd Abstract form X3--

v 1) Kingship
2) King
3) Kinghood
4) None of these

5) GPIETI3 PIHCS TG ACE 12

1) T 3 @R e e
2) AT B
3) SIG1fwTs foifeies



v 4) 5103

6) (TAIL 37 ST GHIRAT?

AT : (T STHICH ATHIRID SFNAT 2R DAL AT AP, BIP 573 AT I | (THAS O \3
O[] = OfeY O

7) o0 513 71 » 10 AR JeTR F1d | 1D 5P FeT 28,000 TP A, 1D U1K o1 0?2

v 1) br,000 TIPI
2) »,000 TIRPI
3) »,&00 TR
4) 50,000 BT

AN : 2 T 5PN 28,000 TIPI

-0 5 " (38,000x0)/2 = 0WY,000 T

» 0 WPR Fe1 VY, 000 TR

2 10 AR T2 (0w,000/0) xR = brooo TP
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10)a + 1/a = V3 X, a3 + 1/a3 =397

1) 3v5
2) 2V3
3)3



v4)0

I a3 + 1/a3 = (a+1/a)-3.a.1/a (a+1/a)
= (v3)3-3vV3 =3V3-3V3=0

11) fas3 1a T @ ?

1) Credit this amount against his name
2) Every qirls is at her desk

v 3) We made a fun of it
4) A little number of boys were present

AT : AT AP amount U3 2 'to' I T against 3| STE, AN GRAT Sl (TOTH
G 'Credil' A3 ST with O[T to I | AR @RI livery girls' a3 1fi-CS livery girl'
IO T | AR 'every' W3R singular noun 2| oY WA 'boys' SITAR CFCa
number 93 I5Y 'countable noun IR P00 [ | ACF@ 'Uncountable noun'-little
IR 1| TADTE TOR AT 'make & fun' YPR U3 TP GICAT YRR 9 @3 |
PREDV'fun’ 1A P CFCA 'make fun' TR0 A |

12) 2x2 -xy-6y? I3 SLATF

v 1) (2x+3y)(x-2y)
2) (2x-3y)(x+2y)
3) (x+3y)(2x-2y)
4) (2x-3y)(2x+2y)

AU 2 2%2 -Xy-6y? = 2X? - 4xy + 3xy - 6y?
= 2X(X-2y)+3y(x-2y)
= (x-2y)(2x+3y)

13) UT AP ARG Y00 SITH d¢ TIPT \3 20 TIRIT 7R 73 YA b1 6 TFocs @ee oo 2ffs
500 ST BT ATH S TTPT €0 RS AJ?
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4) qRSTPT

AT = PO &7 IS TG, TN, *XIPIS, 5T, S0l oS |

15) 512 BIRICH 5114 --- AT 2ACO M TR WM PR PIAE | -G @Ta PRI 512

AT = ACEATST “NEF D TSP QRA-Idl FROR AX [ReW |

16) TUROHRY (1A S TH NG R ?

v 1) Y8¢ S
2) Y980 I
3) Y»8Y ST
4) 88 S

MY : SRR S ATH RO W LA STAPTHBIT XA 1Y T 98¢ HICE | SRoST Seq
PRIPI 2 8 TWERA Y8¢ A | 18 TR SO FMISTATAS AT A | TIROHCIR ATHPAY
I TP AT P f& TOCOs | TIfOHER SHA 797 TEHANEA fo3Ts 1 TR |
TIOHR TR G

17) (0.5x0.05x0,003)/(0.R0%0.0%) = PVO?

1) oRe
2) 0.0¢
3)

v 4) 0,000¢

0.003¢

I 2 (0.5%0.05%0,00))/(0.30%0,0%)
= (0.5X0.05x0.,005Xx50X500)/(RXR)

= 0.,00)/8 = 0,000¢

18) To meet trouble half-way phrase --53 @ f&?

1) To get nervous
v 2) To be puzzled
3) To gearup
4) To be disappointed



19) SRR 315151 (IRTEY 32 P ---

AT : TGPCER TICAMCE Qb O FRGT 3 SR HeFerd ST 51370 [5fd SR IREN U
Bl FEA|

21) Rafig said to me, "l was ill ?" 563 5 Indirect speech T3

1) Rafig told me that he has been ill

v 2) Rafiq told me that he had beenill
3) Rafig told me that | had been ill
4) Rafiq said to me that he was ill

Y0 : 243 Assertive sentence Q< 'Direct Speech' (@ Indirect @< G¥Ca reporting
verb 'said to' 43 #IfCS 'told' UL reported speech U simple past tense a3
IS post perfect tense IR TS T | A TR 3w indirect speech 5 x5 -
'‘Rafig told me that he had beenill’

22) T @& Idd?
1) effoaet

) S
2) ool
v 3) aforal
4) ARt

AT : RO Q7 IS Fd, @THRA, ST, TP, XIPIS, 5T, SKTo!, 9|

23) lllicit' --a3 STLF X1 @10 ?

1) Fake
v 2) unlawful
3) Legal



4) Compatible

AT : PO &7 A8 TG, FHNTPT, X PTG, 5T, SO, T

25) LT TR TAYT @1 IR SITARER SATRS 272

1) Yv FREGTR, YA
v 2)
3) du F@Cﬂﬁa Y»q0
4) 5 TAIRA, Y»a0

AT+ PBRG CTN RO I IR SRR T0eT T IR O SRR YA A |
SITASTOR! AR USTOT H LT ARG PO W [=(eTd 08 T | PRATDA AT AT Horfs
fBCeTd ©. BT @ | AFGT SRR AR BT ST Srrefd I d TIRA Ya S |
8 TG >R IR FHP YTGT FRATT 51216 | 8 TG 013 TR It A 11t
FAT | YR FCER dY TG sieemog) ARAWR F L I 2T |

26) CFTT A -

1) GPTA Q= IATA?
2) Colaboretion
v 3) Collaboration



4) Colleboration

29) TG X[ RROTP % 5?2

) Assesment
2) Asessment
3) Asesment

v 4) Assessment

T : Assessment = FeiRd

31) G X[ S [RCoRH 2 ---

AT : TR ORI PO FRFT PLATRE VIR = IRP ; Vg + TSP = AT

32) Benevolent'--a3 ST <= @102

1) Kind
2) Donor
3) Patron
v 4) Generous

33) (PTd 5I3H (@1 517 (3?2

N —

v

) &
) 3¢

3) IT=IfS
) <ifd
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34) fatb1 @1 I @ ?

1) | found his pulse

v 2) | felt his pulse
3) | examined his pulse
4) | saw his pulse

T : PIET'F i\@ GRT IR T, ijij WJOJ PACO | QR PN AR™NH' T '?ﬂf\@, AT T
QIS 'feel someone's pulse' 24|

35) Suddenly one of the wheels came off, 4T 'off" <=0

1) Adjective

v 2) Adverb
3) Preposition
4) Conjunction

AT : 9SG ACT 'come off G group verb IM\3 'off' AEMI I preposition 2, ©&
'verb' 3 BT f2t¥1 I O Adverb T IW | @ddl verb U3 21 IR @1 word 361 &
verb @& qualify' I1 "modify I ©4d O Adverb I | 247G 20T 'off" <0 verb Q9=
I P verb @& qualify Iz Ry afb Adverb; @i 'off' 4T Preposition & |

36) PFNOTIRA FGIAGT 21afod TeBR LRI @ ST iy AI2[ T T, BIP I -

) TRPPTHA
) Ity
)
)

N —

3
RATR

v

N

37) UF IG FIFEAR B[/ ¢0% QAP 2R 3@ Rerwgen g 3@ | &1 e Resgew
T Yo% I et f&fas s 3 1 Ok @067 ToR X0 IO AT ?



4) Q1@

39) PR TR 3, ¥ \3 5T QT T FATOII ©lsT IR 1 XA IO P-97 WA ¥ Q7 SR A
\3 Y- QR 51 Q< 8 BN AT | OT1(E OIS WK AJATO PO?

v 1)b888)
2) 53388
3) 3238
4)38883

AT : P =4 AR Y = 857
. as = {X8ST = b’ﬂ
P, Y8 5T Q] BRI O TO = 5888)

40) IR O] AU BTG PAT

v 1) JFD, 55
2) 4 dIb, Y>>
3) U FIB, Y5

4) 5a fE, S»ad

T 2 BT IR IGOETT IREATCR 21T SRV BCBTEAT AT T R TTE SAd FH |
Z1a-5R ST ARECR TP RPIE 21 STAIRCT OeFTA BTes] fofof &l 5 § WRE 77 91o1T
SCSIETd A | ALTACT R TG 10T SraTeld sy AfeTo 20 | DG O JRERE T2 A0
AR AT AT TAPGIE BTSN PR 30 FTE H9AS I TGS O Ty Isdd |

41) The lady is not amenable---reason. ICFR X[AEIE SIP > TN -

1
v 2
3
4

)
)
) for
)

on
to
of

o

Roike PTe P J41) WY 'Died

TN : Over eating (@1 AT 511)/ Over working (I
from' 30571 53T TFIA (1)

42) PG RO H2.¢% Fioro adib f&fast [Rier d@d ) @ g1 fofd f&fas /it acea, o1
BT Vo T A Fen RIF FAT T FER T9R TR 2% G 25 | FSfAS0I FI T 3672
1) a¢ TRpT
v 2) bo B
3) b¢ TIRPT



4) »0 Tl

JMATT : 3.¢% FToco RF T = ba.¢ T
2% TS

43) QPG T ISR 26 TG d¢o BT 7| g ATd 3R &fs Tod Yoo TReT A SE1d
AP WA fFaerd | Tod 2fts Y80 TR 7 317 Tt [RieF A, TR 6 ATS IA?

AT 1 S FER Yo e T SKPR A1 JOWdsK SKIR 510d BT 3 | 3 FKPIK X191 5137
IR Y Ufoe | PRY I FREI T2 - ARG | TR TOFe 35T, TR S A-IZ S rzram
TETR- SITRECR 2YT (@D PR Q32 TR SRACGK AT PP | TR AR G- dHad
SR TS T 24Td foacetd | [ meteR o Ao |

45) 2050 FIEH RPIPT91 PO CHI0 PUM CPT WX PR ?

QAT 1 3050 IS PO FRPIPTH AR 208 6 P WA= I | §1 9 02 B 60T e
SYTST T |

46) @10 @ IEaa?
1) Aleviation
v 2) Alleviation
3) Allviation
4) Aliviation

AT : Alleviation - BoPTd, AT |



AT : 3RS ¥R ARPTH IS - O, U0, TR, RATH, Ao | I@N Q7 A<= I - WA,
1, G, TePR, 2AMAART | PGB 304 AR T IEA |

50) We ought to obey our parents. ArRIT7 3o “1iRAR0 voice X1 ?

v 1) Our parents ought to be obeyed by us
2) Our parents may be obeyed by us
3) Your parents is to be obeyed by you
4) Our parents are to be obeyed by us

74T : Active voice 9 ought to YRC AGT & passive K [dTd 2618 subject +ought
to +be+ppf(verb 1< pastparticiple)+object



AT : AR A7 BRoorT Id oA s sike, fiiR-fAsa, ofoar, safFar

52)0, Y, 8, ®, €, O, Y —--mmm (IO T 2 I
1) 58
2) Yy
v 3) St
4) 30

53) UFG TUBIRL QPMCA 530f0 I I TR TR AFAE 5/8 WL I3 I3 IO A | TN
O ATAPE QIS td QBT IS P O q¢ofD I3 I3 FACO Ol FOMd SAT5IE?

AT 1 TR T IR I = 530 5/8 =00 G

QA IS AR I 530490 = S¢o 6 B

Seo fb I3 1473 IO ST TSt 2

. q¢o fb I3 I PACS ST 5T (RxA&0)/5¢0 = do fid

54) 3(3x-4)=2(4x-3) & T PICT X-A< qF A --

v1)6
2) -4
3) -6
4)3

[T : 3(3%x-4) = 2(4x-3)
q1,9x - 12 = 8x-6
A, Xx =6

55) fAbd A ISEN TLT (@PTAL JITH?

56) RPGACATET AGPIHA G RIOT @72

1) o zrm



v 2) GifeTs @i Riq

3) iy fa
4) 312 Ufeve

1T : RIXR AIOTPR GfeTa W R SO AbFS I3, @PRTTOE, RPSacTeT |

57) P "SRG \3UTE (STEA? -~ AR <=0 (@1 PR @1 oG ?

AT 2 FAT ¥R/ G WA TG, 52D I ST | T MR T, BoRPL AT SRR P D
I 27|

58) dfere’ *FD1 RATTOILP <11 [57?

59) Man aspires-----riches. IR <AFIE SIP < I ---
1) on
2)in
3) at
v 4) after

M : Amenable' ¥R Y 14T, TI5T0, TAT WMoww,(PReTw Mo 1K 98| Amenable
W I appropriate preposition 20511 'to' IkT© 2|

60) f5al TP TR SIF >0 T, F AT FGabI Q@IsTPet 2 -
1) 5%

2) %8
K)N

v 4)5
61) PTAD TOR B 2FF FAIR BHIRAT-

1) §A6H



v 2) CETOrS
3) T5MY
4) T

AT : SRR TORI RS (191 (T (T T FY ST 2, O AT TORI O FY ST
I . (FETOTET = (O R OIS, X967 = X9 7K1 &, YT = FY ey a7

62) @D % T2

v 1) Exhilaration
2) Exilaration
3) Exhilaretion
4) Exilaretion

63) WP TMIPOI TNTOR EAENNT I TR AT 22

1) dq afget y5ay
2) R 6 559
3) AT Y»ad

v 4) >0 afeF Y5

AT 1 Yo A 545 SIS WP ATOIR AR FATOR AT T P 2 AL
T SKI $19d BT 2 | ST ST 1 FROAsR SRPTR X192 512 B 5 AfAet 552 S
([ (SR (A | FATOR EQEATAT TS T I 5 DO ! |

64) LR IPHG AN FT @02

AT 2 AR AFHTT ARG 197 TR | A3 319 FERTANR (ST TRIFG | RO
VYR b 57 B | TR R MBI ToR WA T TRIFG |



66) Dhaka is a big City, Q1@ 'City' /0 @1d &I Noun?

1
v 2
3
4

Proper
Common
Collective
Material

N— N N N

A ;20T 2mg 1P 'Dhaka’ 2% Proper noun Q3R 'city’' =& 'Common Noun | @
noun a1 QTSGR T 1 I PP A dICd AT BIF Common noun I | SRR
f25¥ 91 I/, Dhaka,Barishal, Khulna 29117 @31 U3 Common name I 43 dr
%% City, Dhaka, Barishal, Khulna 2951 252 Proper noun @32 'City' 25 Common
noun |

67) OLF OIF I AR G Tod F4, SfQER R (B3 (516 I @ ©TS120 I8 | --
G @1 PRI IBAT?

AT : SRM RO 3 oRom ROy T SAATpRT IR T 2 | @TFd8 SA(=Re) G T =
GO |

69) “IRFR oK FeI' NP ARFIR XA (T PRP (1A ROz ?

70) SRR T oA TAFIR AR A1 AN I AR S 217aq?

1)t



AT = RN SRR W(R) A Ao I ZACZ- "IN Ts1T S 2K et
A3 ARSI A 3w “ififbo &)

71) Reza died --—-over eating. PR AFEIA 3P X% TN ---

TN ; IS - GRipceoR w1t fdot) 19
INATNACI - IR 5191 T TG
ARPOITADK - 7 [iymer fadfas 19|
ATHITALR - STofamar fdofre T9|

73) After the storm comes the calm ¥ d ' after' =fD---

74) IFRNETR #rafod 7D 4T T 0% -

v 1) TCSTH \3 SFRPL3WH
2) AR AfRFIRPAT AL \3 FRG A
3) TGS \3 WAL BETE @
4) PL3WR \3 AR ARFARPA

75) (GFBR 570 -3 ArswIflfae ard fe?
1) GIRGATS IBPRCAG



AT : TG RZ) ST (SETR ARGTF BACTER ATRGO 36 [eRIcd TRIEG | KK P71 2,
SHYO ST AT RSP 5135 P STRTAIR STHIS1P Sron 13 Reis aftowT aEd |

77) SO JTGH ST (PAD?
3

ATRBTSf
HAARE

JPEIR

AT ; 2137 X Forfip wrpfod fap UR J28- Us | I IR AN I (T 2 AP
YT IR R TGP 52 PO I AR | IR JRGA AN IRPTERP I\3F, TR IR0 28,393
@FA | TP 3T FFNEAD (SR @&, (STTes16; 3 ROTRIeR Q3 GITSRTSR (G-

THEYT \3 FEANGGT BT TG [T |
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78) ITTSIEA Al BT Ib ST 72
1) O 5RIP

)

2) XN3FG 35T
) TR AR
) TR TSR

AN : SRR AR PRI ST Tel, T PR T, TSR I29 4 |
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79) TIPUR' AIGPIL'A A6 TR0T &2

1) XKIQEE BLTIATLTI
2) TGS & fid T2
3) \3CT T 33

v 4) AT SR



T : BTPYL' IAEAC 2P FP 0P A6 | TR I P P51 I A AR AP |

TR SIS HRas Te, ST, ST CRSTTT |

80) R (ST BGI- WRIATS T FUA?

A IGR 2R TR “R/PFT fd 1T [fFast et omsies a3 o fofes F=ds live.hellobcs.com


https://play.google.com/store/apps/details?id=com.hello_bcs.live_exam
live.hellobcs.com

